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OAZAE BB 248
580,000& » 12& 6,960
O2I A S|
8,000& * 7% » 8% * 123 5,376
OAIEEH| S22 2L
1,500,000& * 43| 6,000
OS+4H| 22U 248
200,0002 * 2DH2 400
OLPG EEAMESAIE FIIZA =2
200,000& * 13 200
ON4ZE B4 248
1,540,000& * 23| 3,080
02 Z324l 275,186 249,286 25,900
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2A:

3 Wﬂ%g—jj 2435t
=l tolsAld2te] & &4 (Cte: M
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAlE &I Xl 115,300
-Sd2sl=s2 RUEX |2+ *
21 (oi2s)) 20,300,0002! 20,300
-BoiE SUAE STDE(SE, T, IIH)
15,000,000 15,000
-RUIIAEXIAIE FXI2e
7,000,002 7,000
SO IWE L AA HA
2,000,000& * 23] 4,000
-XE 4 ]2 2,000,000& * 53] 10,000
-8 |Xl2ell|(7,289.42m)
17,000,000 17,000
-SIIAE 72 10,000,000 10,000
-AYAE X2 6,000,000& 6,000
-LEDIHAIE KXt 13,000,000 13,000
-AIMAIE (D] 2 AMSH) |X2el
3,000,000 3,000
“HHIAIE A2 2 FH
10,000,000 10,000
Ollote Z&H| 150,000& = 20H * 62 1,800
OS% MA= AR
20,0003 » 500Q! * 23| *3% 600
Ol FA2=H| 1,240
-CHISARII1I
1,300,000 = 12CH * 5% 780
-Teig 4,000,000& * 20H * 2% 160
-S A 15,000,000 = 1CH = 2% 300
O=2zt=ala 2134 & IV 22/ES
1,000,000& = 123 12,000
Os&R= 87,600
-H3es 150,000 = 128 1,800
-HII23 6,800,000& * 12& 81,600
~&ot= 350,002 * 122 4,200
Oggtl 2¢ 5,630
S=E0sa2 A
4,000,000& * 13 4,000
-B=R2st0l=s2 AT HESHENSK
3 1,000,000 = 13 1,000
-Flo=d=el 240,0008 + 29 480
A PRSI FSIE DN 100,000 * 13 100
-2 g etd e | it 50,0002 * 12 50
OFEgSAEZ
11,0003 » 20 « 123 264
OQHUAIEZ
30,0003 * 23|& * 128 720
OgzH| 43,932
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2A:

S 230|522 Ba3
&el: SstolsAldael 2 24 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
EEET] 7%
EEEICESIS)
2,008 * 304 * 53] 300
AR (HIALED))
80,0002 * 0.2A12+ * 122! 43
- e A
1,6002! * 45kg * BAI2H * 1002 13,200
OAta Belwsz
00,0002 * 13| 100
OoIFBRIAIE SXBRIH
6,000,002 6.000
08 AR | 442,000 442,000 0
OJeiZe 2 FAl 442,000,0002! 442,000
202 o1t 13,440 13,440
01 2LHoHH] 13,440 13,440
OSs0LsIT BRlAD ZHOH
13,440,002 13,440
PEEEE 2,000 2,000
14l A 2,000 2,000
ORFRIZ AR AlHISAH S AHI)
8,008 * 52 + 50 2,000
201 A= HIRR0HH| 558,600 725,006 166,49
01 AlZH] 558,600 725.0% A 166,49
OSHSHN 25D HRBAE AMAE DH
A 500,000,0008! * 144 500,000
OSHSHNEIR AZS(AL) HUOHH
B (ASH) 23,100,002 * 14 23,100
OSHSBH 512 DAL BIIHERA
Zoiy) 13,600,002 * 141 13,600
OSHSHN S5 SEFUE BZ AL
21,900,008 * 14! 21,900
406 XHIFSH| 1,400 19.316 AT7.916
01 L EEFI=H| 1,400 19.316 AT7.976
OSMUSHNI| 2
30,0008 * 4cH 1,400
BNeHIb (SN2 33,052 53,417 A20,365
=2 (e =2 D) 33,082 53,417 A20,365
D=2 33,052 53,417 A20,365
201 er2 e 26,002 31,217 A5
EEEI 24,085 29,210 75125
Oger2| 7,745,0002! 7,745
ozl 5,380, 0002 5,380
O=ADI YRE 400,0008! * 104 » 128 4,800
OFAI| ARE 50,0002 * 104 * 122 600
OBITY ADE 2 5,560




A 2aMs2Z
. dY2IIH(SMS2Z )
gel: Jl2gH(2stHs22 D) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-ZolZelg 4,400
- &Y 440,000 * 100 * 4 = 23] 3,520
cE 440,000& * 104 = 23] 880
-t elh 200,000 = 20H = 22 800
—+AX 120,000 = 104 * 32 360
2 s5=34l 2,007 2,007 0
OBFIH| KX 24| 2,007
~CHISAFRIID
1,300,000 = 27CH * 5% 1,755
-ZelH 4,000,000& * 3CH * 2% 240
—FAX 600,000 = 10H * 2% 12
202 04l 2,160 2,400 A240
01 =LHAHI 2,160 2,400 A240
OZstds2Z 0 28 0
2,160,000& 2,160
203 =4l 4,800 4,800
M FA2SHIFII 4,800 4,800
ORAMEZE =2
400,000& * 12& 4,800




